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1) The marked price of a cycle is Rs. 1280/-by allowing a discount of 10%, it gives a profitor Rs.72/- Find the cost Price. 

A) 1080 
B) 1342 
C) 1290 
D) 1218 

2) In an office the ratio of the salaries of an officer and a clerk is 15:7. If the salary of aclerk Is Rs.720 less than the salary of the officer, find the salary of each officer: 

"A) Rs.1350/ 
B) Rs.2070/ 

C) Rs.750/ 
D) Rs.2250/ 

3). The ratio of two numbers is 4:5 and their HCF is 3. What is their LCM? at HeATd T 4HG 
A) 60 

A) 42 kg 

B) 90 

4) The average weight of a class of 22 students is 42 kg. If2 new students of weight 33 kg and 39 kg are added to the class, then what will be the new average weight of 24 students? 

A) 40.6% 

B) 43 kg 

3T5T 4:5HCF} 3T 3LCM F4T ? 
C) 80 D) 48 

B) 40.8% 

C) 39.5 kg 
5) The income of a person is Rs. 95,000 and his expenliture is Rs. 75,000. If his income is increased by 18% and the expenditure by 12%, then what will be the percentage increase in his saving? 

D) 41.5 kg 

C) 40.4% D) 40.5% 

6) A man covers a certain distance by scooter at 64 km/h and he returns to the starting place riding a bicycle at l6 km/h. Find the average speed for the whole journey. 



A) 25.6 km/h 

A)7 Years 

7) The compound interest on an amount of Rs.2.300 compounded annually at 10% per annum 

for a certain period is Rs.483. Find the period in years. 

A) 1,29,600 

9) 20% of 3000 is 

%20 hT 3000 

A) 1000 

8) The Population of a town increase by 20% annually. If the population 4 years ago was 

62,500 then what is the present population? 

A) 80 km/hr 

B) 26.5 km/h 

A. FOIS 
B. TMS 
C. ICMS 

B) I Year & Month C) 3 Year 

D. RMS 

B) 1,30,700 

11) CqIS is a module of .... 

B) 500 

HTÀ sfat 20% tafaat yf 4 qyd gHHGT eft 62,500 at 

10) A train passes 300 mt long a telegraph pole in 10 Seconds. What is speed of the train? 

12) Full form of "UDM" is 

B) 98 km/hr c) 105km/hr 

A. user depot maintenance. 

C) 40 km/h 

B. user depot module 
C. unified depot module 
D. unified divisional maintenance. 

13) AIMS portal is a .... 
AIMS Ye y.....3 

C) 1,28,400 

A) All India Medical Service. 

C) 600 

D) 30 km/h 

B) Accounting Information Maragement System. 

D) 2 Year 4 Month 

C) Agriculture Information Management Standards. D) All India Institute of Medical Science. 

D) 1,26,300 

D) 800 

D) 108 km/hr 



14) Full form of UMID is 
UMID T gut sy 

A) Unique Medical ldentification. 
B) Uniform Mediçal ldentification. 
C) Unique Medical ldentity. 
D) None. 

15) RVNL stands for 

A) Railway Vikas Nirman Limited. 
B) Railway Vikas Nigam Limited 
C) Railway Vikalp Nigam limited 
D) None of these. 

16) What is the full form of IRIMEE ? 

A. Indian Railways Institute of Mechanical & Electrical Engineering. Jamalpur 'B. Indian Railways Institute of Mechanical & Electrical Engineering. Kanpur C. Indian Railway improvement & Modification in Electrical Engineering, jamalpur D. None of these. 

17) Full form of PNR. 

A. Passenger Name Record 
B. Passenger Name Registration 
C. Personal Name Registration 
D. None of these 

18) MCDO stands for 

A) Monthly Confidential Demi Official. 
B) Memorandum of Confidential Demi Official. 
C) Monthly Confidential Demi Officer. 
D) None of these 

19) Full form of P.T.O is 

(In Railway) 

A) Personnel ticket Order 
B) Permanent Ticket Order 

C) Privilege Ticket Order 
D) Pass and Ticket Order 



4 20) The full form of HRMS is 

HRMS T yuf y 

A) Human resource management system 

B) Human resource maintaining system 

C) Human resource material system 

D) Human resource monitoring system 

21) Percentage of Working expenses to Gross earnings is known as? 

A. Inventory Turn Over Ratio 
B. Operating Ratio 
C. Liquidity Ratio 
D. None of the given options 

22) World (International) Hindi Diwas is observed on 

A) 12 January 
B) 10 January 
C) 20 September 
D) 25 December. 

23) When was National Women's Day celebrated? 

A) 08 March B) 13 February C) 12 April D) 12 January 

24) Who was recently appointed as the Election Commissioner of India on 15" March 2024? 

A) Gyanesh Kumar B) Sukhwinder Singh Sandhu c) Anish Dayal Singh D) Both A and B 
25) Which country has given honorary doctorate degree to president Smt. Draupadi Murmu? 

4 A) America B) France C) Mauritius D) Myanmar 

26) Which of the following can not be depreciated ? 

'A) Machinery 
B) Vehicle 
C) Furniture 

D) Land 



27) New Pension Scheme is implemented from: 

A) 01.01.2004 
B) 01.07.2004 

C) 01.01.2005 
D) 01.07.2005 

28) RTI application should be replied within ....days. 

A) 30 days. 
B) 45 days. 

C) 60 days. 
D) 20 days. 

29) ECG is done to diagnose an ailment connected with? 

(A) Kidney 
(B) Heart 
(C) Brain 
(D) Blood 

30) Which Indian mass movement began with the famous Dandi March' of Mahatma Gandhi? 

A) Khilafat Movement. 

B) Non-Cooperation Movement. 
C) Civil Disobedience Movement. 

D) Quit lndia Movement. 

31) Maitree Express runs between 

A) Kolkata-Khulna 
B) Kolkata - Dhaka 

C) Howrah-Dhaka 
D) Howrah- Faridpur. 



32) Who is the present Chairman & CEO of railway Board? 

33) 

Á) Shri Anil Kumar Lahoti 

B) Shri Suneet Sharma 

) Smt. Jaya Verma Sinha 

D) Shri Ashwini Vaishnaw 

is the chief of Operating Department of a particular Railway Zone 

A)PCSO, 

34) The Longest Railway Bridge in India is 

A) Bogibeel Bridge. 
B) Vembanad Bridge 

B)PCOM, 

C) Neheru Setu 
D) Son Bridge. 

A) 2016-2017 

35) Raitway Budget has been merged with General Budget since: 

36) Full Night means the period between 

A) 10 pm to 05 am 
B) 10 pm to 06 am 

C) 10 pm to 07 am 

C)PCSTE, 

B) 2017-2018 C) 2018-2019 

D) 12 pm to 08 am 

A) DRM, 
B) ADRM, 
C) Sr.DP0, 
D) None. 

D)PCME. 

31) Who is the secretary of PREM meeting at Divisional Level? 

38) What is the minimum family pension? 

and 

D) 2019-2020 

gafe1 



A) Rs.9000/ 
B) Rs.6000/ 
C) Rs.3500/ 

p) None. 

39) Declaration of Holidays are under sections of 

A.RTI Act 
B. NI Act 
C Labour Act 

D. None of these. 
40) What the name of the scheme which provides alternate accommodation to wait listed passengers in other trains? 

A) Chunao 
B) Vikalp 

C) Ichha 
'D) Adhikar 

41) ) How many days leave is granted in maternity leave? 

A. 180 days 
B. 60 days 

C. 75 days 
D. 120 days 

42) What is the Standard Form used for Revocation of Suspension? 

A. SF-4 

B. SF-3 
C. SF-2 

D. SF-5 

43) Total how many days are granted as Child Care Leave in erkire service? 

A. 730 days 
B. 500 days 
C. 350 days 

D. 900 days 



44) ) Paternity leave for male Railway employees will be lapsed after 

delivery of his wife. 

A. 12 months 
B. 06 months 

C. 09 months 
D. 03 months 

A. 10 
B. 20 

45) Under the old pension scheme, a Railway servant is eligible for füll pension 

after completing a minimum qualifying service of_ 

C. 33 
D. None of these 

A) Wheni they perform non-running duties. 

46) WHen do Running Staff become eligible for the grant of 'allowance in lieu of kilometrage? 

B) When running staff perform shunting duties. 

C) When they perform road learning 
D) None of these 

A) S km. 

47) Travelling Allowance/Daily allowance is admissible to Railway Servants when proceeding 

On duty beyond 

B) 8 km. 
C) 7 km. 
D) None of these. 

years. 

48) What is the main source of earning of Indian Railways? 

months of the 

A) Passenger Fare 
B) Catering 



C) Goods Transportation, 
D) None of these. 

49) How many financial up gradations under MACP scheme are 
granted to Railway Employees? 

A) 04 
B) 03 
) 02 

D) None of these. 

s0) For miscarriage, including abortion, what period of maternity leave may be grarnted in entire service? 

AT? 

A) 06 weeks 
.B) 30 days 
C) 45 days 

D) 07 weeks 

51) Inquiry is not mandatory under rule 

A) Rule 5 
B) Rule 14(ii) 
C) Rule (13) 
D) None. 

52) How many persons can form an Association and get registration of Trade Union? 

A) 10 or more, 
B) 07 or more, 

4 

C) 15 or more, 
D) None. 



53) What is the Train Number of Sealdah - New Delhi Rajdhani Express? 

A) 12301 
B) 12303 
C) 12331 
D) 12313 

54) What is the Standard Form used for Imposition of Suspension? 

A. SF-4 
B. SF-3 
C. SF-2 
D. SF-1 

55) % of Reservation for Economically weaker Section admissible in direct recruitment is 

A) LAP 

B) 20 

56) When no leave is admissible under any other rule, the leave granted is called 

A) A-1 

B) LHAP 

58) What is the full form of PREM ? 

PREM T þr 54T? 

B) A-2 

57) Medical classification for the post of ASM, Goods Guard, Traffic Apprentice is 

C) Patient Reported Expert Measure 

A) 3% 

C) 5 

A) Participation of Railway Employees in Management 

C) Special Leave 

B) Participation of Rilway Employees in Movement 

D) Patient reported Experimental Measure 

B) 2.5% 

59) Rate of annual increment of railway servants w.e.f 01.01.2016 is 

60) The study leave is connected with 

C) A-3 

C) 2% 

D) 

D) 10 

D) None of the above 

Extra Ordinary Leave 

D) B-1 



A) Paid leave 

A) 20 lays 

61) How many days of LHAP in a year can be credited to an employees earned leave 

A) 120 days 

A) Medical certificate 

62) Maximum days of leave on average pay that can be accumulated is 

63) Commuted leave is admissible on 
Commuted leave F1or 

B) Paternity Leave 

D) None 

B) Request of an employee 
c) Discretion of competent authority 

A) 10 y�ars 

B) 10 days 

A) 10 days 

B) 180 days 

64) After how many years final withdrawal can be done from PF 

B) 15 years 

65) Period of appeal under DAR rule is ---

67) DAR stands for 
DAR #T HSE 

A) Direct Appeal Rules 

A) Stoppage of passes 

B) 25 days 

66) Which of the below is not recorded in service record 

B) Discipline and Alternate Rules 

c) Maternity Leave 

c) Discipline Amendment Rule 
D) Discipline and Appeal Rules 

c) 30 days 

B) Warning 

c) 240 days 

C) 20 years 

68) Number of RH that can be availed in a year is 

c) 35 days 

D) Paid holidays 

C) Censure 

D) 12 days 

D) 300 days 

D) 05 years 

D) None 

D) 45 days 



A) 01 

69) Which of the following is not a major penalty 

a) Dismissal from service 
b) Compulsory retirement 

B) 02 

c) Withholding of increment(Non cumulative) for 03 years 

) tTqafaft 

d) Withholding of increment( cumulative) for 03 years e)None of the above 

a) 02 

70) Paternity leave is granted upto ----living children 

fhT IGT ? 

C) 03 

b) 02 

a ( Print all pages 
B (Custom Print 

71) Which of the following option of print settings is used to choose only specific 

pages in MS-Word? 

C (Print selection 
D( Print current page 

D) 04 

c) 03 d) None of the above. 

72) In gmail, when you receive a mail and want to send mail to reply to the 

same mail and only to the original sender, which one do you use? 



A( Reply 
B (Reply all 

C( Forward 

D( Both reply and forward 

73) How can we bring 'My Computer' icon on the desktop, if it is not there? 

A)From Settings 
B) From Wallpaper 
c) From Display Properties 
D) From Explorer 
yafzrr 

f) vaufr t 

74) Which of the following keys is used to delete character to the left or the 
cursor? 

A) Alt+delete 
B) $hift 

C) Backspace 
D) Delete 

75) The brain of computer is --. 

A) System unit 
B) CPU 

C) UPS 
D)None of the above 

76) When you delete a file from the computer, where does it go? 

A) Recycle bin 



B) Hard disk 

C) Täskbar 
D) None of these 

77) What is the short cut key of "CUT" for MS Word in Computer? jqer MS Word fa "cUTA rtê 
a. Crl +T 
b. Ctrl +C 

c. Ctl +X 
d. Ctrl +U 

78) To apply Centre Alignment to a paragraph in MS WVord we can press A) Ctrl+s 
B) Ctrl+c 
C) Ctrl+ C+A 

D) Ctrl+E 

79) In MS Word how can we insert a page number at---A) Header 
B) Footer 

C) BothA&B 
D) None 

80) Which of the following are file extension of word document is --

A) xls 

ft T? 

B)doc 
C) pdf 
D) jpeg 



81) In a class, each student scored a different rank. Aman's rank is 11th from 
the top and Nikhil's rank is 13th from the bottom. Only three students ranked 
between Aman and Nikhil. If the total number of students is an odd number 
divisible by 3, how many students are there in total in the class? 

A) 21 

A) Paternal grandmother 

82) Introducing a girl, Meena said, "she is the only daughter of my sister's son" 
what relation does Meena's sister have to the girl? 

B) Grandmother's sister 

B) 33 

C) Mother-in-law 
D) Maternal grandmother 

) rr 

6:210::8:? 

A) 504 

83) Select the related number from the given alternatives. 
6:210::8:? 

A) 40 

c) 15 

B) 512 

B) 45 

D) 27 

C) 218 

84) Look at the following series and find the next number: 2,2,3, 6, 15, ? 
fAafafaa jT r ANft HeT ATA : 2,2, 3, 6, 15,? 

c) 50 

D) 204 

D) 55 



85) If lead' is called 'stick.'stick' is called 'nib', 'nib' is called 'needle', 'needle' 

is called 'rope' and rope' is called thread'. What will be fitted in a 'pen' to 

write with it? 

A) Stick 

86 if the word DIPLOMAT 0S written FKRNQOCV, then AMBASSDOR can be written as 

A) COCBOOFOS B) COADQOFRS C) COECMMFOS D) CODCUUFQT 

A) 3,2,5, 4,1 

87) Select the option that represents the correct order of the given words as 
they would appear in an English dictionary? 

B) 1, 2,3,4,5 

1. Brochure 2. Brine 3. Bright 4. Brief 5. Brocade 
C) 4,3,2,5, 1 

D),2,3, 5,4 

B) Lead 

Given set: 63,49,35 

C) Needle 

88) From among the given alternative select the one in which the set of 

numbers is most like the set of numbers given in the question. f Tar tE: 63, 49,35 A) 81,63, 45 

D) Nib 

B) 64, 40,28 

C)72, 40, 24 
D)72,48, 24 



89) The image of a clock in a mirror is seen as 03:15. what is the right time? 

A) 08:45 

49:130::78:? 

90) Select the related number from the given alternatives. 

A) 65 

A) Celèbrate 

91) Identify the noun from the given option. 

A) were 

92) Fill in the blanks: 
500 million dollars 

B) 30 

A) Dow 

93) Fill in the blanks:: 

B) 10: 45 

B) Carelessness 

A) Hush 

I advise you not to turn 

B) are 

A) Put bn 

94) Find the right Interjection: 

95) Fill in the blanks: 

B) Off 

! The baby is sleeping 
B) Doh 

With a few buckets of water, we 

B) Put out 

96) Çonvert into direct speech: 

A) He said, "I'm ignorant by God 

a large sum of money. 

97) Fill în the blanks: 

C) 07:45 

C) 150 

D) He said he was ignorant of God 

C)Careless 

C) is 

C) He said, �By God !I'm ignorant of the matter." 

the fire. 

offer which other people would jump at. 

C) Hmm 

C) Over 

He swore in the name of God that he was ignorant of the matter. 

B) He declared, "God knows I was ignorant of the matter." 

D) 140 

C) Påt Off 

Although Leila was very hungry, she didn't eat very much. She 
A) Couldn't have liked B) couldn't liked 

D) 09:45 

C) can't like 

D) Cheap 

the food. 

D) seem 

D) Oops 

D) At 

D) Take off 

D) like 



98) Rearrange the words in correct order to make complete sentence . 

Her mother / cooked / her / some snacks. 

A) Her mother cooked her snacks some. 

B) Her mother cooked her some snacks. 

C) Her mother cooked some snacks to her. 

D) Both B and C 

99) Find a word similar to the meaning of the highlighted word in the given sentence. 

The student was expelled from the university due to his flagrant violation of the rules and 

regulatjons. 
(a)Blatant 
(b)Inconspicuous 
(c)Secretive 
(d)Obvious 

100) Select the option that can be used as a one-word substitute for the given group of words. 

Indifferent to pleasure and pain . 

a) Lusty 
b) Prudent 
c) Cynic 
d) Stoic 

101) THTT 3tatH. 1963 pq YIT AT? 

When was the Official Languages Act 1963 passed ? 

(#) 10 H$, 1963 

(A) 10u May, 1963 

From when did the Section 3(3) of Official Languages Act come into force? 

(*) 10 $, 1965 ()14frda<, 1967 () 8 HTG, 1976 () 26 frt, 1965 

(A) 10h May, 1965 (B) 14th September, 1967 (C) 8th March, 1976 (D) 26h January, 1965 

How many languages are included in 8h schedule of Constitution of India? : 
(&) 19 

() 14 fdar, 1963 () 8 H, 1963 (T) 26 fratt, 1963 

(B) 14h September, 1963 (C). 8th March, 1963 (D) 26th January, 1963 

(T) 20 
(T) 21 

a) 22 



Thé section of Official Languages Act. 1963 whereunder Central Government is empowered to make 
rules for Official Language ? 
() aTRT-7À 
(A) In section -7 (B) In section -4 

(A) 20 

(at) err-4 

How.many Lok Sabha members are there on the Committee of Parliament on Official Language ? (E) 20 (T) 15 (T) 10 () 30 
(B) 15 

() HTHT YIR 

(A) Prime Minister (B) President 

(A) General order 

issued? 

(C) 10 

The Committee of Parliament on Official Language submits its report to whom? 

() ds -8 

(A) Only Hindi 
(C )Only English 

() guft 

(C) In section -8 

(A) President 

(D) 30 

Which of the following documents are mendatory to be issued in the bilingual form? 

() 34rgft 

(B) Resolution (C) Contracts 

In which language may the papers related to Section 3(3) of the Official Language Act 1963 be 

(s) ds -6 t 7 
(D) In section -6 &7 

(B) Vice President 

(C) Home Minister (D) Vice President 

Conventionally who is elected as the chairman of the Committee of Parliament on Official Language ? 

() vygrft 

(A) The person signing on the document 
(C) Rajbhasha Officer 

(f) TurT 

(B) Hindi & English both 
(D) Hindi or English 

(ef) rrTT fTt () TYTT TrTTETET 

(D) Al 

(C) Prime Minister 

Who is responsible for ensuring that the documents under section 3(3) of the Official Language Act be issued in both Hindi and English languages/bilingually? 

(D) Home Minister 

(B) Head of the Office 
(D) Principal head of department 
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